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Philosophy

Paper 1II

NI
gyAuteRt 11

Time Allowed : 120 Minutes]
Note : This Paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U1 3Ted. @d U Wred.

AT : A GLAYehd THUT IR (100) Tgaaren Ted ot oTed. Tcieh Jemen & (2)

Choose the correct order of the

stages of life according to

pratityasamutpada of Buddhism :

(A) Bhava, Vedana, Jati and
Upadana

(B) Bhava, Jati, Vedana and
Upadana

(C) Vedana, Upadana, Bhava
and Jati

(D) Bhava, Vedana, Upadana and
Jati

Consider the following statements

with reference to the schools of

Vedanta and mark the correct
code :

(1) Shankara accepted Nirguna
brahman and rejected Saguna
brahman

(2) Shankara and Ramanuja
accepted Saguna brahman

(3) Shankara accepted both
Saguna and Nirguna brahman

(4) Shankara and Ramanuja both
rejected Nirguna brahman

Codes :

(A) Only (1) is true

(B) Only (1) and (4) are true
(C) Only (2) and (3) are true
(D) Only (3) and (4) are true

ST A TGRS STee
I e e

(A) W&, ogl, Sl S IARH
(B) w4, Wi, dg1 0l IURH
(C) &1, 3URH, W S0 el

(D) wd, 9gA1, SURH ST STt
faem=n Sgare el aed U
Hehdieh faer

(1) STRT=EmEHT T S ehRa S
0T F& AThRA

(2) TRTETE S TATSITETE AT |0
ERRSIENNG

(3) wwRTEEH o i o s

(a) by

Salel ThRa
(4) vTpIETE rfor [HESEE A
SRl o g@ TR
i
(A) ®H (1) = A8
(B) W (1) 3T (4) 3T 3T
(C) ®a (2) 3T (3) TgH 3T
(D) ®eRi (3) 3T (4) TH

[P.T.O.



“Brahman and the Jiva are different
but they have the potential to be
identical” is the philosophical

perspective of :

(A) Advaita Vedanta

(B) Visishtadvaita Vedanta
(C) Dvaita Vedanta

(D) Jainism

Given below are two statements
labelled Assertion (A) and Reason
(R). Examine both with respect to
the Yoga and select the correct
code :

Assertion (A) :

Yoga is a theistic system.

Reason (R) :

God is the creator, preserver and

destroyer of the world.
Codes :
(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)
(B) Both (A) and (R) are true and

(R) 1is not the correct

explanation of (A)
(C) (A) is true and (R) is false
(D) (A) is false and (R) is true
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I ST e f=1 3Tea 901 ° gieah

(A) gd ae
(B) fafererga aem
(C) &4 o
(D) S e

T2 STFYRIT (A) S0 FRW (R) 7eh
T faum el stea. &0 Sl faumm=
AN TR WUl T e TgH

3FAIOT (A) :
I ¥ SYeROE! < IR
ol (R)

gy B e fAAfdn, emoreRat e
formemeRdt aTR.

F@H‘I%E :
(A) (A) 371 (R) SIeiet 9 e ST
(R) § (A) 9 a7y TSR0 3T

(B) (A) =1fo1 (R) SI=ier e 3Ted 901
(R) ® (A) ¥ Idr7g A0l e

(C) (A) ¥ 28 10 (R) & 3TEH %

D) (A) 3GH T8 907 (R) ¥ I 38




Select the incorrect statement with
reference to the Vedic sacrifice from
the following :

(A) The sacrifice is enjoined by the
Veda

(B) The Vedic Gods are invoked in
the sacrifice, but they are only
instruments for the proper
completion of the sacrifice

(C) Itis not the case that, the result
of the sacrifice is produced by
an inherent potency—the
apurva

(D) Out of the many kinds of
sacrifices enjoined, one among
them has its aims the fulfilment
of the desire of the person
performing the sacrifice

Which one of the following theories

of validity of knowledge is upheld by

Samkhya ?

(A) Svatah pramanyavada,
Paratah apramanyavada

(B) Svatah pramanyavada,
Svatah apramanyavada

(C) Paratah pramanyavada,
Paratah apramanyavada

(D) Paratah pramanyavada,
Svatah apramanyavada

‘It is not the case that everything

can be produced by everything

merely by a change of arrangement

of constituting atoms. This means to

say, it is not the case that the effect

is potentially pre-existent in the

cause.” This view is upheld by :

(A) Samkhya-Yoga

(B) Madhyamika Buddhists

(C) Nyaya-Vaiéesika

(D) Mimamsa

JUN - 12219/II—A
geiet T Sfces == Hauid gent
IECIERECEIE
(A) 99 ® oefafed smed

(B) SET™ SodHEd 3TaT8 hidard Ju7
1 Il TSI Ul v
HIgTHA 3:“%“

(C) o &l &, I Thed 3T {HI0T
B

(D) STl Th=AT Aefafed aTuehl

Teh! I SfEse Ixiehcai=a s

Tl T S
JETAT GTHTOIT=A] dTedid At
eIkl hIV ST SRR ?

(A) Ed: JHIIARE, Wd: AUHTIAG

(B) T@d: YHETIAG, T&d: AUTHTTIAG
(C) 9d: YHIUIals, Td: SAUTHTIIEG

(D) 9Xq: YA, FWd: STUTHTIICS

‘T R ot AU AT ToA aeed

FYMTe! hTeral AU Al Ad U
FE g 0 Foargel wRoTa ST
WEA 319d.'—8 gfeshA e

(A) FReI-I=
(B) #reAfger g
(C) =AF-AToehT=

(D) =&

[P.T.O.



8.

Pramana-Vyavastha doctrine is not
upheld by :

(A) Naiyayikas

(B) Mimamsakas

(C) VaiSesikas

(D) Buddhists

Given below are two statements
labelled Assertion (A) and Reason
(R). Examine both with reference to
Mimamsa System and select the
correct code.

Assertion (A) :

Vidhi vakya and Nisedha vakya
of the Vedas are injunctions that
give forth the Vedic actions that are
to be followed and those that are to
be avoided respectively.

Reason (R) :

Vidhi and Nisedha are to be
adhered to
Mimamsakas consider the Veda to

because the

be their final authority.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true and
(R) is not the
explanation of (A)

(C) (A) is true and (R) is false
(D) (A) is false and (R) is true

correct
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(A) TRt

(B) wrHmeRH

(C) IAferamir

(D) g

e STEHR (A) A0 HRO (R) 37ef
S faum fooft emed. HHm g
U = TOU & IR Gehdh
fraer.

AYIUT (A)

fafy s snftr oy a3 ST %A
3 SARYT 3TRd i HIVA AfSh el

FqeAd fhal & ¥ T Fad.

&RUT (R) :

fafyr enfor oy o= 9@ U9 HRO

T qd 95 WHT Afqq e

Hehdich :

(A) (A) 3701 (R) SErel e 3ATed ATl
R) T (A) ¥ I TR0 3R

(B) (A) 37U (R) SaIel e 3ATed ATl
(R) % (A) 3 I TR0 FHd
Bl

(C) (A) T 2T’ 27T (R) 19 378
D) (A) A9F g 37 (R) 9 T8




10. Match List I with List IT and mark
the correct code :

(@)

®)

(c)

(d)

(1)
(2)
3)
(4)

List 1

We may notice manifold
qualities and characteristics of
a thing, but view them as
unified in the thing. Eg. We say,
“This is a book”, we do not look
at characteristics being different
from it.

We may notice qualities
separately and regard the
unified thing as non-existent.
Eg. Perceiving different
qualities of the book and alone
regarding those as real, apart
from the unified object, i.e. the
book.

Liberation is not a negative
state of cessation of misery.

Liberation is for and by the
individual.

List 1II
Paryaya-naya
Dravya-naya
Mahayana

Hinayana

Codes :

A) @)
B) 3
© 3
D) 2)

(@ ®) ()
2 @
@ @
1 @

1 @

(d)
(1)
(4)
(4)
(4)
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10. It I sfor 9t I1 9= Siredn S[ea
3T STk Hehdien THael :

(@)

®)

(c)

Rl |
STTI0T A 3Tk TOTeH ST ST
edl, TU ITAThS 390 ThaH
U ITedl. STIU WUR ‘¥ Wi
3’ JegT 30T AT A=A S
q&IhTUaT ol WU Wied e
MU IO WA qg ST
3TI0] TehdY ] AT A8t 318
A 30N, Tk fafy= o
0l Mo e TAAIu T

HASTU, Ty I TS TRIehTa

.
qeil FBUS] @Il SAWTE .

o o

(d) T g KA FKIEES hoiall
3T,
Trdr 11
(1) =g =
(2) 5= T4
(3) &M
(4) TEE
Hehdlah :

(@ ®) (@ (@
A @ @ 6 @
B 3 @ @O @
© 3 1O @ @
D 2 O 3 @

[P.T.O.



11.

12.

13.

14.

Thales, Anaximander and

Anaximenes are known as :
(A) physikot (B) mystics
(C) myth-makers (D) politicians

The view that human beings were
playthings at the hands of powerful
but morally weak deities was held
by :

(A) Heraclitus (B) Aristotle
(C) Homer (D) Thales

For Plato Mathematics provides :

(A) a bridge from the sensible would
to the intelligible

(B) a discontinuity from the sensible

world to the intelligible

(C) an illusory means from the

sensible world to the intelligible

(D) an obstacle in the sensible world

to the intelligible
According to Aristotle, form is not :
(A) for the sake of matter
(B) immanent in matter
(C) functional in matter

(D) differential in matter

11.

12.

13.

14.
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gog, ffeemst 9 Mfwm—g =
Aea ?

A) i (B) Teamt
(C) TR (D) IR/
TV TEUTS! QIfRTRTEH TR Hfehd : Gaesl

Sediea BTt Bl gfteehid =h1ofl
@ ?

(A) feleorred (B) sfieered

(C) &= (D) "

e A, T wE ad 2

(A) TUfgT ST STehel-Iaen |ierd

(B) Tfsa 51 9 eha1a ara g4 i
G|

(C) Ufsa SRR ket AT YT
qEE qRad
(D) Ufa wa eTeue fmim w1 9

MR (TUUR B)

A=fee=n Hd, AR

(A) SURH™EE Tl
(B) 3URHM =&l

(C) SURH HE®dH 9]

(D) 3UEHNM favedaea™ TEd




15.

16.

17.

18.

Assertion (A) :

According to Locke, the real essence
of any physical object is not known
to us.

Reason (R) :

The internal constitution of the

object is in reach our experience.

(A) Both (A) (R)

individually true
(B) (A) is true but (R) is false
(C) (A) is false but (R) is true
(D) Both (A) (R)

individually false

Who claimed that the exclusive

concern of mathematics is with

and are

and are

questions of order or measure ?
(A) Leibniz (B) Kant
(C) Descartes (D) Russell

For Kant, necessity and contingency

are categories of :
(A) Relation
(C) Modality

(B) Quality
(D) Quantity

Which of the following is incorrect
match ?

(A) Husserl—epoche
(B) Descartes—cogito ergo sum
(C) Spinoza—tabula rasa

(D) Berkeley—esse est percipi

15.

16.

17.

18.
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YN (A)

Qe HATTHTO! SHifdeh T& B R
ATl A FH.

oT (R) :

ST ST AT ST T erdl

I e

(A) (A) emfor (R) el T
(B) (A) ¥ 9u (R) 316
(C) (A) @™ 9ul (R) 9

D) (A) efor (R) el 1

ST U1 MO § T Hewrd i
e TG TE1 KU KAl ?
INRSIEGIE] (B) &l

(C) = (D) W

SHIE=AT Hd TR [EHehdT STTOT STaidTe
@T ................. W 3:”%3.

(A) HaY (B) T

(C) it (D) E&AT/9H0T

ETeAedeh] IO SISl eehrel 318 ?

(A) gdei—3ah (Epoche)

(B) S®rR—hifsel o7 gA (Cogito
ergo sum)

(C) TeAig—32gen W (Tabula rasa)

(D) THi—38 = THIT (Esse est
percipi)

[P.T.O.



19.

20.

21.

22.

23.

The causal relation, according to

Hume, is an :

(A) Innate idea

(B) Causal idea

(C) Dissociative idea
(D) Associative idea

According to whom the proposition

‘God exists’ is a quasi-ontological

proposition :
(A) Kant (B) Anselm
(C) Descartes (D) Ryle

The distinction between Shreyas and
Preyas is maintained in the :

(A) Taittiriya Upanisad

(B) Brhadaranyaka Upanisad

(C) Katha Upanisad

(D) Prasna Upanisad

Adrsta, as agency, is conceived
by :
(A)
(B)
(©)

Naiyyayikas only

Vaisesikas only

Naiyyayikas as well as
Mimamsakas

(D) Mimamsakas only

‘Death as Moksa’ is uphold by :

(A) Samkhyas (B) Jainas

(C) Bauddhas (D) Carvakas

19.

20.

21.

22.

23.
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&H=AT Hd SR Faig oo

(A) 3Tdfeh Heul

(B) RO Sheq Tl

(C) faETeAss Shedm

(D) TCHS Shedl

‘TYR AfcgEa R’ ® faum somen
Td H-TARTE T R ?

(A) e (B) 3&H

(C) < (D) WA

F9H 9 Y9 I 98 HIS Idl ?
(A) dfwda sufe

(B) J8eNUgsh 3IUMG

(C) o UM

(D) ¥ SufeR

GRS HAgum o fgar ?
(A)
(B) el oiferehit
(®)

N 2 o LY
SIECES BRI IEEAR]

N o LAY a ¢ L.
AT hTHl 9 HIHTHRTHI

(D) Hdes HHGHR]
‘g =S Higl' o) HI0 Je STe 2
(A) HrEArt (B) SH

(C) Sger (D) =eient=r

10
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24. ‘Svadharma’ means : 24, @WYH WIS :
(A) One’s own duties (A) AT &
(B) Prakrti (B) Wl
(C) Self-knowledge (C) ATHAT
(D) Self-realization (D) STTHHATETER
25. Which of the following is not given | 25. ETetdeh] hI0d RO afgeh THRd
in Vedic tradition ? e ?
(A) Pitr-rna (B) Deva-rna A) fagrm (B) SRU
(C) Manava-rna (D) Rsi-rna (C) AR (D) k-3
26. Which of the following is not covered | 26. WeliciUeh! HIMET Ieoiel JHEM TG ?
in yamas ? (A) TOTE HE T
(A) Don’t drink intoxicants B) 99 wE
(B) Don’t steal
(C) Don’t harm ORI
(D) Don’t hoard (D) ETH FE& T
97. Carvgka views on Purushartha | 27. == qeuefange gitehiond
may be labelled as : RO g 2
(A) Psychological Hedonism (A) TSRS e
(B) Ethical Hedonism (B) Ak gerars
(C) Paradox of Hedonism (C) gearm fadenrg
(D) Universal Hedonism (D) HrEfAh GEarg
28. Which of the following is not a task | 28. elee! HIM HAHEHEAER! faeram
of phenomenological reduction ? %E A ?
(A) To enable the naturalistic point (A) Ypfdersr gfteshmr=t Terrar fafo
of view .
(B) To enable holistic knowledge (B) FHACIRT JET= ATl T
claims N
©) To.enable presuppositionless © :ﬁ’;ﬁ:&algl;ﬁ:r%ﬁwﬁ?Huqul
claims (D) &= S YR <oaret
(D) To enable grounding of entities FICS
11 [P.T.O.



29.

30.

31.

Match List I with List II and select
the correct answer from the codes
given below :

List I
Maitri
Karuna
Mudita
Upeksa

List II
Punya
Sukha
(3) Apunya
(4) Duhkha
Codes :

(@)
(A) (2)
(B) 2
e 2 @O & @
D) B @ 1) (@2
Which of the following is the socially
binding principle ?
(A) Dharma (B) Artha
(C) Kama (D) Moksa

According to Ryle a category
mistake is committed when :

(@)
®)
(c)
d)

(1)
(2)

®)
(4)
(4)

(c)
3)
(1)

(d)
(1)
3)

(A) A fact belonging to one category
is presented in the idiom
appropriate to another

(B) A fact belonging to one category
is reduced to the idiom

appropriate to another

(C) A fact belonging to one category
is totally denied

(D)

The relation between the two
categories is wrongly presented

29.

30.

31.
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oo N

gl 1 3 T 1T Sooa 311for weft feetean
g IR :

g 1

(@)
®)
(c)
(d)
gt 11
(1)
(2)
(3) I
4) T°@
TU
(a)
(A) (2)
(B) 2)
© @ @O G @
D B @ QO @

T deh! IO T HHSE e
e ?

(A) o (B) 31k
(C) &M (D) e

ST HATER Jefetten! shael aifkedia
SRI-FHE TSd 7

(A) TH JhE d GEAT ThIAl
;gwam & g el

(B) T YehIT=AT qeATd GU-AT GehRell
;gwmmaﬁ%ﬁn@ﬁw@ﬁ

(C) TeT YohRId 0Tl SR e Juid:
AR SITd

(D) T YR AT FehI=AT TGEA
TR el I "

EEll
<h Ul
Afea
Iue
‘gﬂ'&[
qul

)
(4)
(4)

(c)
3)
(1)

(d)
(1)
3)

12



32.

33.

34.

35.

Who among the following Utilitarian
philosophers advocated Qualitative
distinctions in Pleasure and Pain ?
(A) J. S. Mill (B) Bentham
(C) Sidgwick (D) Kant

“Eye for an eye” is advocated by
which one of the following theories
of punishment ?

(A) Deterrent theory

(B) Retributive theory
(C) Preventive theory
(D) Reformative theory

‘Ethical sentences are about the
attitudes of the people’—is the stand
point of which one of the following
ethical theories.

(A) Moral Subjectivism

(B) Moral Realism

(C) Universal Prescriptivism

(D) Emotivism

Which one of the following
statements is not true of Altruism ?

(A) In case of “pure” altruism self-
interested motives are entirely
absent

(B) An altruistic and has to be
necessarily self-sacrificing

(C) An act is altruistic in the weak
sense if it is motivated by the
tort that it benefits at least does
not injure anyone

(D) An act is altruistic in the strong
sense if one undertakes it
inspite of the perception that it
involves some loss of one’s well-
being

32.

33.

34.

35.
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WU T SUIFHIATAIGT T
qeg @did Ui 95 Ared ?

(A) 3. TE. fged (B) dem
(C) Tafsss (D) =

‘Sresad S’ & fRreRaur et o
YU S ?

(A) vfqeaeare e STU

(B) gfaenemcdss 3o

(C) TraromeHsr U
(D) YUROTcH  IqT

[T N N hd o Nt o

Afqw A creRren gfsemraifa
3T’ 81 TR Wit shivre Hfaeh
SUIRI HiSal e ?

(A)

(B) Afeer arrearg

(C) HEfh SAReER

(D) wrEfTReE

R RIAETETEd Eeerdeht o faem

qd @ ?

(A) e RysREEd S T @
O Ui SAYE STl

(B) TRIYSRI Fdl AIRGEHI0 STHET
A

(C) SR TEE FHdl enverl 3@, fem
RO 1 i 9, R ot T,
g e, WS 19

(D) S TErETAT hedvTEl o
IRl STed Agett, adel of
H e TIhRT el ™ e oAeff
U Ad

e feroeitene/sfafear
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36.

317.

38.

39.

Which of the following is maintained
in traditional ethics ?

(A) All good actions are right but
all right actions are not
necessarily good

(B) All good actions are duties but
all duties are not necessarily
good

(C) All right actions are not duties
and all duties are not right
actions

(D)

Right actions and duties are
incompatible

Teleology and Deontology get
synthesized in :

(A) Rule-ethics
(B) Principle-ethics
(C) Virtue-ethics
(D) Meta-ethics

According to Plato, the existence of
which virtues ensure justice ?

(A) Truth, Knowledge, Beauty
(B) Truth, Goodness, Beauty

(C) Wisdom, Courage, Temperance
(D) Wisdom, Fortitude, Love

Deontological performance of duties
is prescribed by :
(A) Bentham
(C) Kant

(B) Mill
(D) Hume

36.

317.

38.

39.
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WU HIvEr (Tatg) IR
R TEen S ?

(A) Td AN Fadl AT THATT qUT T

A FHelt T STEU TUREE el

(B) T AT Fcll haceht STHA Ty
Hd e H ANTel |0l AuREr
Rk

(C) gd Iqra Fdl hdeahy ARG o

¢ LY a N
Td FHdTwd AT Fdl Aowd

(D) I Fl F FHaHwH TERTEA

Ferd

TS 9 el Squtiel TH-<od

HIS sl ?

(A) TrEm-ifamm
(B) Ta--ifaam
(C) wIoI-fctem
(D) sfifaeTe

NN b hd o N
ST Hd, IV U= TR
I qEAl Sl 2

(A) ¥4, IH, Hed
(B) 5, fera, dicd

(C) M, &4, wam

(D) 9, féwd, 9

‘TR ATESt TRy T freRa
Hoft feeft ?
(A) S|
(C) e

(B) faea
(D) =™
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40. Aristotle speaks of Eudaimonism | 40. 3iR&fea=n ‘gedifem’ =S .
as : A) n
(A) Benevolence
o (B) oI
(B) Magnificience
(C) Excellence (C) Helleg=d
(D) Patience (D) wif¥reRan
41. Select the four sanctions of morality 41 FUE TR SERER Sem RS
given by Bentham : '
(A) Physical, Mental, Linguistic, AT FTAl 2
S i ]- o o o
o (A) Hifqes, AMTTH, wiftes, AN
(B) Physical, Social, Political,
Religious (B) iifger, 9mifSieh, TS, onfieh
(C) Physical, Mental, Linguistic,
Political (C) difaes, amfaes, e, TS
D) Physical, Social, Li isti ~ e~
D) B,IS?Ca’ oclal, Linguishc, (D) siifdqer, grfser, sifter, enfde
Religious
42. The problem of means and ends and | 49. AT T & HEAfadan sTe
the 1n51stence. on t.he purity of means = P T SRS aRe 7
are the highlights of whose
philosophy ? (A) &. €. Y=
(A) K. C. Bhattacharya (B) . Forgd
(B) J. Krishnamurti ©) Seor T
(C) M. N. Roy 0
(D) Mahatma Gandhi (D) W el
43. Satkhyati is maintained by : 43. TEA GIUR A
(A) Ramanuja and Prabhakara (A) THIIST & GHhT
(B) Ramanuja (B) =S
(C) Prabhakara (C) HHThT
(D) Ramanuja and Kumarila (D) THMES & HHARA
15 [P.T.O.



44.

45.

46.

47.

48.

According to Igbal, other minds are
known through :

(A) Postulation

(B) Intuition

(C) Testimony

(D) Sense-perception

Which aspect of Dharma
emphasized by Phule ?

(A) Devotion (B) Truth
(C) Goodness (D) Beauty

The Absolute, as conceived by
Radhakrishnan is pure consciousness,
pure freedom and :

(A) Infinite
(B) Infinite descriptions

18

(C) Infinite possibility

(D) End of possibles

Who among the following asserts
“Religion without philosophy runs
into superstition; and philosophy
without religion becomes a dry
atheism”.

(A) Radhakrishnan

(B) Swami Vivekananda
(C) Sri Aurobindo

(D) Tagore

The statement—“Intuition brings to
man those brilliant messages from
the unknown which is the beginning
of his higher knowledge” can be
attributed to :

(A) Radhakrishnan

(B) Sri Aurobindo

(C) Swami Vivekananda
(D) Tagore

44.

45.

46.

47.

48.
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SFIATTAT Hd, T hIMAGR Thoodld 2
(A) AT

(B) 37d:9=m

(C) e

(D) ga&TIYHa

ST ShIvTE SHTER el It o) feenr 2
(A) vt (B) ¥

(C) Ter= (D) S

THHSMETAT ShadawTal Hhed Tar d
e od, fees @a 9

(A) 3Tq

(B) Td 9ol

(C) o a ¥eRIa

(D) IEREET 37

‘TERME] gH STHSKETR XAl d
BRI ICTINICRIEREE K RENECICICHICE)
TeATish! I Yiqued 3R ?
(A) THTh™H

(B) @@t foaere

(C) #herfeg

(D) 2MR

T faum womeed =)o ?

" A T AU STRTTh g STedel 3
TS T <, i A WA I oo
aﬁ.”

(A) THUTHH

(B) #ierfag

(C) =t faaeTe
(D) TR

16
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49. Who among the following asserts— | 49. ‘‘JSThROTET Hod HIUETAT STEATHS
“politics have their roots in the SaFd 3Tard’’ ® Wfaued Erefterdeh
spiritual life of man” ? ?

(A) Mohammad Igbal (A) HeH eIl
(B) Mahatma Gandhi (B) werem Tmeft
(C) Sri Aurobindo (C) #iterfag

(D) Swami Vivekananda (D) Tt foeshrig

50. Absolute for Radhakrishnan has to | 50. ¥ Ad, Hd@ad .

be : =
: (A) 9ifqergsean |9 3/
(A) Materially real
(B) Of the nature of spirit alone (B) a3 <I=rHaE T8
(C) Of the nature of void (C) YIEETT 379d
(D) Of the ptalture of both material (D) sifis 78T ST
and spirit

51. According to Jiddu Krishnamurti | 51. 51 FOUd A A, @A RUS
freedom is : (A) Tramten feeen qea wfaae
(A) Free response to nature
(B) Exercising choice without any (B) FIUTE et S 0

preconceptions (C) frEes fdrero
(C) Pure observation .. s .
_ . _ (D) Tdgegfad hds ‘W’ Ao
(D) Knowing self in isolation from SN
relation

52. Sartre’s humanism orients itself | 52 ¥ = AHdERE W@d: o XS feeen
towards : R S 9
(A) an open future of collective

responsibility (A) HHfeh IWEIET™ o wias
(B) an ope_n.future of solitary (B) St TeReTiaeT SERgR
responsibility
(C) an open future of ecological (C) YgfeuIfasaess STRET I Hd
responsibility o
(D) an open future of scientific .
responsibility (D) S IR o wfasy
17 [P.T.O.



53.

54.

55.

56.

According to Heidegger, the proper
response to technology is to :

(A) understand it within Being
(Sein)

(B) abandon it within Being (Sein)
©)

(D)

accelerate it within Being (Sein)
manipulate it within Being
(Sein)

According to Nietzsche, the
assumption of identity underlying
logic is :

(A) culturally fulfilled

(B) rationally fulfilled

(C) spiritually fulfilled

(D) fictitiously fulfilled

For Levinas, the face of the other

is :

(A) a moral summon for
responsibility

(B) an epistemological summon for
science

(C) an aesthetic summon for
pleasure

(D) an intellectual summon for

reason

James attempted to replace ‘the
truth’ with a diversified plurality
of :

(A) appearances (B) truths

(C) percepts (D) concepts

53.

54.

55.

56.
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IS HATJHR Tl foeiesn amd

RIS IR S

(A) FIfefcar=n Tk 9 WUH @
SR HEA B

(B)
(®)
(D)

SR M= & 0]
e el Tt <0
e e ITIgu gTdTesul

M= AATJaR TeheMEITdial daddoa/
eI TEdehTel gadl

(A) GiEhfaemgs B
(B) difgahgsen a

(C) emeATfcHshgseen 8
(D) TSI B

fare=n AaER ‘W = we o

(A) ST IcareEe=n Afdsh ARy ™
(B) fommamst IRmEg SRyl eTe

(C) QEEEd Hedmea e 37

(D) dhiES Slifgeh STRYl 378

SR T HeheuTd fowemTe qEerdent
FHIMAT AfTEATT 3R el 2
(B) &

(D) Heheq T

(A) 39™E
(C) sfsa "oA
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57. According to Ryle, Cartesian theory | 57 A= qd SHEE TAGTIS  SUTT
of mind is based on a confusion
.................... q%ﬁ. T]_W a’)_{ﬁ
between :
(A) Mental description and (A) AFfaesr fageroor eqfor g
disposition
(B) Mind and brain (B) H E&d
(C) Mental and physical properties (C) A Tt IR EUTE'IfI
(D) Loglca.l and psychological D) & ] ‘I”T%ﬁ
properties
58. According to C.S. Pierce, truth is : | 58. #. TH. fyem=n #a 9= & "~
(A) the ideal limit of knowledge e,
(B) the ultimate goal of knowledge (A) IETET AT HHHR
(C) the expedient in the way of (B) I siftw 2=
thinking .
. . (C) foemmeia weh Ieril
(D) the logical requirement of L
enquiry (D) fSE=l difsher TS
59. The distinction between actual and | 59. IRd MV TS YA ATchel UG HIT
probable verification was upheld Hifftaen e ?
by :
A) T B) TR
(A) Schlick (B) Ayer &) (B) T
(C) Carnap (D) Wittgenstein (C) &R (D) T
60. ‘Incomplete symbols’ of Russell are | 60. T&er= ‘3Tquf Hfieh’ YErcToeht I el
those which fulfil the following : EX I
(A) their contribution to meaning (A) ra Aedfaeas FeE e
did not consist in denotation ST T
(B) their contribution to meaning (B) @ia areffawas e R
consists in denotation T T
(C) they are used as names . - -
(C) =M a9 ATHERET <hell Sl
(D) they are not susceptible of )
analysis (D) &= faveo H0 I A6
19 [P.T.O.



61.

62.

63.

Which of the following is not what
Quine criticizes as “two dogmas of
Empiricism” ?

(A) The distinction between
analytic and synthetic
propositions

(B) Phenomenalism

(C) The reducibility of each

meaningful statements to the
set of immediate experiences

(D) Totality of our so called beliefs

is man-made
The objective of total revolution is :

(A) to change government, but not
society and the individual

(B) not only to change government,
but also society and the
individual

(C) not to change government, but

society and the individual

(D) to change government and

society, but not the individual
Swadeshi was :

(A) not just an economic doctrine,
but covered all aspects of
human life

(B) just an economic doctrine and
did not cover all aspects of
human life

(®)

not an economic doctrine, but
covered all aspects of human life

(D) neither an economic doctrine
and nor did it cover all aspects

of human life

61.

62.

63.
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RICTUsh! hEMa] AL FAGT IRl
sheted ' AVEERET T T AW

T ?
(A) fovcives o Gyerves faammeie wieh
(B) HEAHHAEG

(C) TR 1Yl foreTe! e STIHar=A1
TeHed faee BIoaTEl &l

(D) 2T9edT Ga qTeh o &= M-

SUST HAAHHT 3T9Hd

MY o

IS ~
HAdend snldlid Sl

o @

(A) TIHR S0, IO THIST o ekl ARl

(a)

(B) %dx3 TR SCAUl ATRl, dX U

-~

9 el ogel HSdul
(C) TR Sl el T TS 9 Had
Id S TS0
(D) TR J GAS Iid qiedq o,
el el

w@eelt §

(A) Shefes Tk T @I, T AT
St we o |WEEd o

(B) heles e dwa 3T, AFal Sterre
TR UoElt o= GeY A

(C) enf¥ieh qal A&, T d HIAe ST
gd U HHEUR ST

(D) 3Tfefer qaa! At o /el Strerrean
gd UG FrHTEORE AT
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64. Constitutional morality : 64. TSTEATHS Al ¢
(A) cannot be reduced to pure (A) YEY SIS o1 JefHew &
normativity or pure legal form e & I Tl
(B) cannot be reduced to pure (B) EHWH@EWW
normativity and pure legal form e w5 A9 T
(C) can be reduced to pure . -
normativity but not to pure (C) Ya¥ ARTHS A [T hdl
legal form F T YR A F A
(D) cannot be reduced to pure (D) =& STERTHF &I Taeta il
normativity but to pure legal Id TE U YR SR S
form HI A
65. Freedom to practice religion is | 65. YA &AM Tei= S0 g1~ Tfh
..................... right in India. R
(A) a fundamental right (A) Hayd
(B) a cultural right (B) wiEhids
(C) a political right (C) TSI
(D) an informal right (D) SFATI=IE
66. In the Indian Constitution, the right | 66. “RdF TSTEEAd GUTEl TFF & HM
to property is not : AT ?
(A) a fundamental right (A) AT &Fh
(B) a legal right (B) auifieh &
(C) a moral right (C) Hfeh &k
(D) an individual right (D) S TR
67. Affirmative action aims at : 67. HRNIHAS Fldl SIW A Al ?
(A) social justice (A) ISR =
(B) political justice (B) TS ==
(C) individual justice (C) Jafadsr =
(D) global justice (D) dfmesw ==
21 [P.T.O.



68.

69.

70.

According to Kautilya, in the process
of selecting a new king :

(A) A state must have a king even
if deserving candidate is not
available

(B) A person from the relations of
the previous king must be
selected

(C) It is better to keep a state
without a king instead of
selecting an undeserving

person
(D)

The eldest prince of the previous
king must be selected

According to Kautilya, what brings
glory to king and the citizens ?

(A) Beauty of the land

(B) Magnitude of the army
(C) Good governance

(D) Enormous wealth

In the context of foreign policy,
according to Kautilya, the following
principle should be followed by a
king :

(A) King must always remain
aggressive
(B) King can enter into war with

any enemy

(C) King should not enter into war

with more powerful enemy

(D) King must always think of
treaty to avoid any war

situation

68.

69.

70.
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FHifer= FAMER Fa1 e fae

Hieha=a dedl

(A) S A% SHEAR 3T 9l alt
TSIl ST ST aTfest

(B) qat=al UST=A1 ATcaTdiel ki

frers wuFen =
1ds

(C) H3ATEl U IHSANTH]
HLOATIE T qeTiorfed Ufe

EINE|

(D) TET=A TSI Had <oss TSR AR
fere sTvard e

o

NN
N

FHifeear=al HATaR, EIeiieh! HeHes TS
g ARG A dvE W B ?

(A) e e
(B) H=r=ht eI

(C) gowTEA
(D) 3THTT HU=IT

AT HATER ST RS RO

TeHd JEid e Aaes haal

(A) TS HEH AHUS &R

(B) ST ATl IR I8 H& Irehall

(C) TS SAqearyen HHeHa et
FHl g3Y FE T4

(D) IEHuRfeerd Te@vam@S TS et

dgrard fo=amR e
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71. What is the golden rule about | 71. TR URUEES Hif<edr=a HATHR ool
foreign policy according to T saen ?

Kautilya ? (A) ¥oET v @ eToen T

(A) Enemy of enemy is one’s friend

Y O SRemy (B) fHamen ¥0[ d1 Tven 36|

(B) Enemy of friend is one’s enemy

(C) Friend of enemy is one’s enemy (C) 7L fet A A

(D) Friend of friend is one’s friend (D) fosmen fost  smen st

72. Which one of the following | 72, w@reficiis! S99 fau™ IEGEKIERECR S
. . o

statements is not true of patriarchy * e B A ?

(A) Patriarchy is caused by the ) .
biological inequalities between (A) fomm 3 gew ar=ameie Sifah
women and men A FUgETR IS e R 8-

(B) Male c.ontrol over Womein’s B) T o St Frifd e
sexuality and reproductive
functions is a fundamental ke AR o faqEeRaeEdt & S
cause and result of patriarchy FHEE s RO & 9RO e

(C) Patriarchy causes oppression as - . T
a result of alienating women © 13. -
from their bodies E@ﬁﬁl’&lﬂ'ﬁﬁﬁﬂ?ﬁ RIERIELIETY

(D) Patriarchy is essential condition (D) TR = THM B THesfavamn i
for women to demand their
rights as equal citizens < ;aa“rg“r e 3

73. Who among the following political | 73. TSegTesdT=, TTEILH Y STETAT
thinkers defends the Aristotelian *""L'f’""\' \-5(,'\&52 U 3T, TS

ideal of intimate, reciprocating focal feotean iy wisRear o e

community bound by shared ends, ST, 219N Sy sree= gae

where people simply assume and S S 7

fulfill socially given roles ? .

(A) Alasdair Macintyre (A) STTHSTR HIHPHR

(B) Charles Taylor (B) ¥cd ool

(C) John Rawls (C) S U™

(D) Isaiah Berlin (D) =1 afetq

23 [P.T.O.



74.

75.

According to Marx the origin of
alienation is commodity fetishism.
Which of the following is not a part
of Marx’s explanation of alienation ?

(A) Inanimate things (commodities)
have human powers (i.e. value)

(B) Inanimate things (commodities)
are able to govern the activity

of human beings
(®)

Social relationships involved in
production are not relationships
among people, but

economic relationships

only

(D) Inanimate things (commodities)
are incapable of governing the

activity of human beings
Which one of the following is not
true of normative claims that are
the
framework proposed by Amartya
Sen’s capability approach ?
(A) The freedom to achieve well-

being is of primary moral

entailed in theoretical

importance

(B) Freedom to achieve well-being
is to be understood in terms of
people’s capabilities

(C) People’s capabilities mean their
real opportunities to do and be

what they have reason to value

(D) The freedom to sell one’s
produce at a desired price in the

free market

74.

75.
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QIR aTd 3T9dl.  Slfeileldeh! ShIoTd]

(TI) A GUCHASAT TS R O
39 AR ?

(A) TIeita aqaes AFet aHed (oSt
qed) 38

Fsfiel o] Aed Woar= foman Frafsra
FE YHAN

(B)

S R IdId ISR ATagse
AU YT e A
TEY AGA

Trsiter s AgeawoT=n fohan et
T 3T 3T

FHce Gufora erartafisd gfteshromen
Heifass =eherd hea ST STeviae!
STk EeteTdeh] 10T (TFTE) B
TR ?

(A) FHHAT U Hed g™ @
U Hfdehd: Hew@e ST

(®)

(D)

(B) a0 U Sed U™ WA
AR
(C) SIS &THaT S =1 =

Fe-S AT K ded 9 S

TEEqUl 3
(D) Y ISTRUSA TETRE 3G g

= forudien fasmvae ==
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76.

77.

78.

The process by which things of the
world, not belonging to anyone,
become appropriate objects, pertains
to which of the following principles
of justice according to Robert
Nozick ?

(A) A principle of justice in
Acquisition

(B) A principle of justice in Transfer

(C) A principle of justice in
rectification

(D) A principle of justice in decision-
making

One of the dominant reasons for

people to enter into social contract

according to Hobbes is :
(A) Self-preservation

(B) Inner sense of justice
(C) Universal love

(D) Love of wisdom

According to socialist feminism
which of the following is the foremost
reason for the subjugation of
women ?

(A) Their financial dependence

upon men

(B) Their biological difference from

men
©)
(D)

Lack of political representation

Lack of education

76.

77.

78.
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Tad Aifdehea Ad, SCA S 9%

SHIOTTATE! HIcTeh AT T9ard < A gered

o N

w1 gfsrdd Ba, o YR Erefterdehl

R AR 38 ?

(A) IfSTardia =

(B) BEATAOMCIA <

(C) GURUA =IrErdwel

(D) THoiATdar =<

ISR IR OIS, aleqel Hd,

UG HROT WEAdshl IO ?
(A) A" e 0

(B) == S e

(C) wEfk 99

(D) ¥ W

AR SeRITaR, fE@m= gaHe

NN
AHEl nRYl en[Yd ?

(A) JEoadia ®= STfee staae

(B) =1 YEHgA STl STHUIN Sifaeh
a0

(C) TSThta Wifaf-fecem=n 27

(D) TRrefom=n 319
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79.

80.

81.

Which of the political thinkers
distinguishes between equality of
opportunity and equality of respect
on two elements in the idea of
equality ?

(A) John Rawls

(B) Karl Marx

(C) Bernard Williams

(D) Charles Taylor

The statement “Female subordination
is rooted in a set of customary and
legal constraints that blocks
women’s entrance to and success in
the so-called public world” belongs
to which of the following feminist
theories ?

(A) Radical feminism
(B) Eco-feminism

(C) Liberal feminism
(D) Socialist feminism

In Plato’s Republic which one of
the following is a reason why
philosophers should rule a city ?

(A)
(B)

They hate poetry

They are mindful of both body
and spirit

(®)

They are easily able to convince
others

(D) They love what is rather than

what becomes

79.

80.

81.
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EATeTUeh T ShIUTdT TSTeh 1 fa=mard eii=i
A o STEINTET=] THHT 3 THHa=A
AT S GRIHES 9 Hidl ?

(A) S e
(B) wrel e
(C) wre faeam
(D) =" R

wfeyd™ 9 wERyYl feus femm
qHTSSIeA gae 9 I9 A Hesvaa
= SR b B, § faum
TICATAUHT IV SR STIAHE
I ?

(A) erTH Hiterg
(B) waferoiiy e

(C) TRETAR! HaR

R EISEIHEZIEIH

~

e fsaerasd are™ TR =a-
ferUaTeh i @reiieTdsh! hIvd RO faol

e ?
(A) A FHArn faeshin ST

(B) <I® IRNIhS 9 SUEehe ST
Tqd

(C) T FRSIY0l 3T Yol I 3/ d

(D) Ufad-iamaen &M A9Red-a
T
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82. A deductive argument is invalid it | 82, “f1er Ffrare et T Y ST
and only if .................. . .
(A) all its premises are true and the (A) =T ¥d SMYRfaY™ 9 319
conclusion is false anfor fehe ST ST
(B) all its premises are false and (B) =it Eﬁf FYRIAHM STHA STHA
conclusion is also false affor frehidl e
(C) some of its premises are false © a'l%ﬁfflﬁ 331;‘41'{%[%1'[%[ 3T AT
and conclusion also false [bendel SAHcd
(D) all its premises false and (D) = He UM 36 STHA
conclusion true Ao e W ST
83. According to quality, propositions | 83. U TR fauam faurme s
(% Univerenl and Fartiod (&) o st e
. S.mV(;rsa ;mc ar 101(11 ar (B) & fasy
imple and Compoun ’
(C) Affirmative and Negative © o ) oA
(D) Necessary and Probable (D) & ST FT
84. Which one of the following is not a | 84. gl)@lcﬂﬁdﬂ hHTUTT YRR Gfgeren ufge
valid mood of first figure of a ST K THR qEr ?
syllogism ? ; -
(A) Barbara (B) Celarent (A) (B)
(C) Darii (D) Boroco (C) = (D) SR
85. The law that states—A is either B | 85. ‘A & T&® B 3¢ fha1 7 B 3R’ ©
or not B’ is : qreumn 1w sTe
(A) Law of Excluded Middle (A) afsfd wead=r
(B) Law of Contradiction (B) =AmEIar=n
(C) Law of Identity (C) dqmRTe=T=T
(D) Law of Nature (D) fram=
86. e, opposition is the relation | 86. =TT 7l fotiy swem < faurme
between two particular propositions, EAN S I2Y U AN ITHd 3T
which have the same subject and the fogade THM 319d g USRI <t fa=
same predicate but which differ in 3ALdTrd.
quality. (A) Ty
(A) Contrary e
(B) Sub-contrary (B) Sa-Tor™
(C) Contradictory (C) =
(D) Subalternation (D) Suifsra
27 [P.T.O.



87.

88.

89.

“~l(pvqg) .(gvr)o(pvr)” this
propositional form is a ................ .

(A) Tautology
(B) Contradiction
(C) Contingent
(D) Complete

Identify the correct formulation of
the Rule Universal Generalization

U :

(A oy
o (X)) (o)
(where Y denotes “any
arbitrarily selected individual)
(B) ox
s X) ox
(where X denotes individual
variable)
©) ox
- (0y)
(where Y denotes “any
arbitrarily selected individual)
D) ox
o X)) o
(where X is any individual
variable)

Select the correct symbolization of
the following statement :

“Only policeman and fireman are
indispensable and underpaid.” (Px,
Fx, Ix, Ux)

(A) X) [(Px.Fx) o (Ix.Ux)
B) X) [(Px v Fx) o (Ix . Ux)]
(C) 3X) [(Px.Fx).(Ix.Ux)

D) X) [(Ix . Ux) o (Px v Fx)]

87.

88.

89.

JUN - 12219/11—A
““lpve.(@vrlo(pvr) e faur
3R

(A) Tad: 99
(B) Taq: 19
(C) Sfafdaeraan Tomd

(D) Hyof

Hifeleh AM=ieRLomEn (UT) Famme o1
ERIENRCIEI RS e .

A) by
2 X 0y
(Y &1 ag=san fHasaielt ol o1
fdfem s’
(B) 0x
o (X)) oy
(X § =R R %)
©) 0g
- (Oy)
(Y &1 a5z fargaiett saf e
EZG])

D) ox

- X) o

(X & DI FeR= 3TE)
e faumm st fameed faer ' wea
qifew ofor eF-ivmHeee™ S &

SRR ST STg=a1 SAeR T UM
aad. (Px, Fx, Ix, Ux)

(A) (X) [(Px.Fx) > (Ix. Ux)]

(B) (X) [(Px v Fx) o (Ix . Ux)]
(C) 3FX) [(Px.Fx).(Ix. Ux)]
D) (X) [(Ix.Ux) o (Px v Fx)]
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90. Identify the fallacy committed in the | 90. qdiel HieMwdiel dehare fieser :
following syllogism : Tehel AU qﬁ'cl'\uf 94l
No men are perfect TS T Yoft STEdr.
All men are animals . TSy qﬁ'l{Uf Sy,
-. No ammal.s.are p.erfect. (A) fifirg Srsarn SfFER
(A) Fallacy of Illicit Major B -
(B) Fallacy of Tllicit Minor (B) Tt erer= e
(C) Fallacy of Negative Premises (©) ¢ Tﬁ??&ﬁﬂ !
(D) Fallacy of Undistributed Middle (D) stfersmmoft wefter Fferrane
91. Find out the incorrect option : 91. Tehial qAE et -
(A) If an Axiomatic system is (A) ';l'UTlFﬁW 3OS I ot
constistent it can’t be complete I Wk ATt
(B) If an Axiomatic system is (B) SISIHEM YT T o189 dl &1
consistent it does not contain P’ WF%’Q%‘& ‘D’ ‘“p’ ¥ Qralal
and ‘~p’ as its axioms or theorems TR fohal g7 R STHUR R
(C) An axiomatic system is (C) Y&k gHfed FA Siegl SSIaM
consistent iff not every wff is a JUTTATd T8 T8 T
theorem of that system JUlTell & 3
(D) An axiomatic system is (D) 93 Eﬂﬁ‘d 9 S q“lclljj—lld
consistent iff every wff is a qUTeAld THE WA A W
theorem of that system T T GOl GO A
92. Who is propounder of the view that | 92 ‘grogmT @q: Ted 3T’ A1 HarE ord
animals do have intrinsic value ? HOT ?
(A) Peter Singer (A) Tex faR
(B) Tom Regen (B) =M ™
(C) Aldo Leopold (C) 3l fasidics
(D) Arne Naess (D) 3 79
93. Community includes both biotic and | 93. ufERMed Tsia o =g WM <=l
abiotic factors. This assertion is HZHTAT THETT Brdl. AT TR TR
made by : IO el ?
(A) Land Ethics (A) TRER-rd
(B) Deep Ecology (B) 9@l 9FieRol i
(C) Shallow Ecology (C) 3¥es qAERI et
(D) Medical Ethics (D) o
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94.

95.

96.

According to Jodal Radinov :
(A) Life begins with birth

(B) Birth is morally insignificant
phenomenon

Life begins with conception

Conception is morally
insignificant phenomenon

A slippery slope argument about
Abortion states :

(A) Abortion is justified but killing
the child is not

(B) If abortion is justified, killing
the child is also justified

(C) Both abortion and killing the
child are justified

(D) There is no link between the
justifiability of abortion and
that of killing the child

Match the pairs :
Group 1

(©)
(D)

(@)
b)
(c)
d)

Peter Singer
Tom Regen
Aldo Leopold
Arne Naess
Group 1I
Land Ethics
Deep Ecology
(3) Practical Ethics
(4) Animal Rights
Codes :
(@)
(A) (1)
(B) 4)
€ 3)
D) (2)

(1)
(2)

)
(2)
3)
(4)
3)

(c)
3)
(2)
(1
4)

(d)
4)
(1)
(2)
(1)

94.

95.

96.

JUN - 12219/1I—A

Sreta eAfeg=a qdgan

(A) SaamE=l gRY SHEER 2l

(B) W9 & Afdehgea Jocteh 1 3T
(C) Siaam=n YRY TMHHROERER Bl
D) ‘;%WUH & Afehgee efearsh w2

TyaEe i et Sarr=an’

FfrraRE o W AT W
(A) TV UL T8, IO STeTgcl el

(B) SR Tfurd guYTE 3/, T Sel-
TR T R

(C) YT o sTeTecn Sal gaeda eTed

(D) U F STeTec AT AR -
e HI3AR FHE AT T
SISl
e 1
drex faR
(b) A TH
(c) 3fcel fasides
(d) 3+ =
e 11
qRER it
T IO
(3) =R Hidt
(4) 9O TFR
Hehdiah :
(@)
A (D
B) @
) 3
D) (2

(@)

(1)
(2)

)
(2)
3)
(4)
3)

(c)
3)
(2)
(1)
4)

(d)
4)
(1)
(2)
(1)
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97.

98.

99.

100.

Supreme Court India judgment
related to the Adhaar in 24
September 2017 is related to :

(A) Right to Privacy

(B) Right to Technology

(C) Right to Travel

(D) Right to Property

Who is the author of Silent Spring ?
(A) Rachel Carson

(B) Arne Naess

(C) Aldo Leopold

(D) Peter Singer

Which of the following isn’t principle

of media ethics ?

(A) Ensuring the authenticity of the

news
(B) Unbiased attitude
(C) Maintaining privacy
(D) Propaganda

Justice is concept.

(A) Legal

(B) Moral

(C) Psychological
(D) Scientific

97.

98.

99.

100.
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WATA Haled <A STER Haei=n
24 FWsX 2017 =1 i =

(A) ESFYuT=T AfYHR

(B) doIMEN SR

(C) Y= SR

(D) AT SRR

qrcie T o1 Yo T Hiv 3Tg - ?
(A) WA HEA

(B) 3 =9

(C) 3eel fasidies

(D) Ty fR

WA IO T HEH TR
E 2

(A) s forgamamgar fesam

(B) T9U® gfta 9ol

(C) WS T3 ol
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ROUGH WORK
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